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ooooboood:

ooo0:

cos(z £ y) = cosxcosy Fsinzsiny,

goooo:

goooboooo:

gooooo:

ooo0:

oooogno e:

f(-z) & fO0000, flz)=-f(-x) & fO00DO.
cos?x +sin?z =1, tanx:SIM.
cosx

sin(z + y) = sinx cosy + coszsiny,

tan(z + y) tanx £ tany
an(x = —
4 1 Ftanztany

cos (f) _ 1+cosz sin? (E) _ 1—cosz
2/ 2 2/ 2

d .St h) = f(z)
/ —_ — B A A
filz) = —f(z) = lim N :
d 1
=flz) & z=fy), —f 'y =
y = f() () dyf (y) W)
4 A A
g, 08T = —sing, —sing =cosz, —tanz=———,
P p—1 Il
2 =patT, ——at=a loga (a>0).
. 1\"
e= lim <l—|— > =2.71828182- - -,
n—oo n

Oo0o0oooo:0000Dog a,a,pO0000O00~000DO

y=a" & x=log,y,

(67
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booobOobooo,booboboooobobooooobooooooboooooa.

00000000 000000000 0000000000000, 0000e¢0 200100
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gbobooboboooobooooboobooooboobooog:

a*aV = oY (z,y000000D0). (2.2)

gbobobob,0oo0oobobobobo,obooooooooobobobobobobobo,o
goboobOoboooobooboooo.
ooo,s*00000000:

0000,0000 (22)000000000OO:

e(@)ely) = elx +y). (2.4)

O0000,00200000000e(x)0,0000 (240000000000000O0OO0.
0000 (24)00000000000000C0OO0OOOOO,000000O00O00O0O:

00 2.1.1. e(0;a)=1000.
Proof. e(1) = e(l;a) =a>0000000000000.¢0)=0000000,2=0,y=1000
e(0)e(l)=0xa=0 00 e0+1)=e(l)=a#0

000 (24)0000000,60)£000000.2=y=00000, (24)00 e(0)e(0)=e(0)000,
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() »0000n0000z=10000000:

1
e(;a) =n0000000¢"=e¢0000000000.
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(i) x000000;000 m,enO000 xr=20000000:

e(Zﬁ@::eGme<im>>=e(im>x-nxe<im>(mDD[U.

(e(3;0)0 () DODODDODODODODODOO.)

(i) 2000000000
1

e(—mz;a)’

(—z000000000,e(—2;0)0 (i)000000000000000.)

e(x;a) =

(iv)xDDDDDDDDD:xDDDDDDDDD{xj}J‘?';lDDDD,

e(zr;a) = lim e(z;;a).
j—oo
(z; 0000000, e(z;;0) 0 () 000000000000000.)
0o00,(i)0,0009p,¢000000O0OO (22)00000000O0O0OO:
(a?)? = a?? & e(q;e(p;a)) = e(pg; a), (2.5)
i) 0,000000000000O000 21100000000
e(z;a)e(—x;a) = e(x + (—x)) = e(0;a) =1 (2.6)

0,0000000000000000. 00,00 22100000000 e(x;)0000000000O
go,0o0000b00000o000:
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00 2.2.1. 00 221000000000000,«00000000000,00000 2,y0000
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Proof. z,y 0000000000000 O0. 000 p,g,r0000,2=2,4y=9000.0000,
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ooooooboboooog:
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f(x) =ap+ a1+ axx® + - = Zanx”. (2.7)
n=0

000, f0)=e000,0000000000000C0O000OO.
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o0 23.1. 000000000000000O000O00bO0bObO00O0,0b00ooboboboooboon
goboobooooooooboooobo,bo0oobooooboooobbooobo. 00,00bb00o0oboooo
gboocooOobooooboob,booboooobooocooobooo,0oooboobooooooboon
oooooooooooooo0o00.ogggo,0oo0ddpbefd0bobooggo,obbog,
gobooboooboooboooooooooooooboooooo. boo,obooboobooboon,
0000000000,0000000000000000000O0{a,}2, 0000000000000
oo,0booobooooogoboo. oo, boooooogoboogoboooooLo,ooDboooDooobooo
gobooooo,0ooboooboooobooooboooboobooobo. oo, 0oo0boobo0obooooooon,o
gooooboobooooboboo,0b0o0boobo,0bboooooboboooooboboobooobooboon
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00 2.3.1. p0000000000. 00 x0000,0000000000 é(x)=c¢é(x;p)0000on
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00,0000 (2.9)0000000 éx)0,000000 p0000 (2.8)00000.

Proof. DO0O0O0OO p=10000000000,000000000000000. é(xp)0000 (2.8)
gbooobOoboooob,boboob,00b0b z,y00o0obDOoOO0O0O:

~ > (x +y)"™ 2.1 n! e 1 ek
o) =3 LSSt eSSy
n=0 ) n=0 " k=0 n=0 k=0
(oo} o0 oo (oo}
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S bt = (S5 (2] <o
=0 k=0 k=0 3=0
00,0000000000 é(x)
éx) = ana" (2.10)
n=0
g, oo obbbod pboogooobon
_ k. n—k __ n'os k. n—k
éz+y) z)mm+y _E:%E:M AT = kl(n — k)!
n=0 k=0 n=0 k=0
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7=0 k=0 7=0 k=0
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— nl

ooooo, (2.11)000000,00 221000 2310,0000000000000000000OO
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000,((211) 000000 p=10000 «000,00000 e000:
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O00,00e00000,(213)0000000000000O00O0OOOUOUOUOOULO,0D0ODODO
oboooboo,boooobooooboboooboooboon:

e=2.71828182--- .

00 231.ey=3"_,L000. e1,---,e,0000000,00 {ex}¥-, 00000000000
oo.

o0 23.2. 0000000000,00000 e0000000000DOO0OO:
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e:= lim (1 + ) . (2.14)
n—oo n

000, (213)0 (214) 0000000000000, 00000O.

00 2.3.3. 00 23100000000000,00000 20000 é(x;p)00000000O0DO0ODO
O0000000.00,000 e=1.648721271--- 0000,

(o) =1 b @ O
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go,0b0bod»-00000000 ¢,0000,
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goo,0s500000000,00030000000000000000.

24 JU00bObOooooobobbbooooad

googooobooboobuooboobooboobooobo,oboobo,booboOoboOon
O0000O000. 000« 0000000000 é(z)0000,0000000000 po0OOOOO
goooooooooboooooobooog:
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000 é0)>00000,p>000000 ¢x)0000000000,p<0000000000. 00O
gbooodbgobooo,oobobobooboboooboboobo.bo,bobge*bobobo
goog:
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L= log, a
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00 24.1. 000000 p0000,0000000000000000 é(x)=¢é(x;p)00000:

%é(z) = pé(z), é(0) =1. (2.16)

0O000,00 241000000 é(x;p) D000000O0OO0DO,0000000000:

00 24.1. 00000000000 (2.16) 00000 é(x) 0, 0000000000
éx)é(y) =é(x+y) (r,yOOOOODO). (2.17)
00,0000 (217)00000000,00000000000 (216)00000.

Proof. 10000000000 (216)0000000 é(x;p) O

o0

e(xp) =) (o)
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n=0

(2.18)

0000D0000000000, (28)000000000 é(z;p)0 é(x;p)0000000,00 23.10
0,é(x;p) 00000 (217)000000,000000 (217)0000000 é(z;p)0 (2.18)0000
00000000.00,éx00000000000000000:
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é(x) = Z anz™.
n=0

0000,éx)00000¢0)=1000000,60)=a=1000000000. 00, éz;p)000
000 Lé(z;p) =é(z;p) 0000000,

d oo oo oo
d—é(x) = Z na,z" ", pé(x) = Z pax”™ = Z Pl 12"t
x n=1 n=0 n=1

gbo,0b0b0bbn0000000000DO0O0D0O00OO:

P = .
nin—1) "2
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apg = — .

p n
Nap = Pap—1 < Gp = —Ap—1 = 7' 1
n n: n.

0000, étp) 0 (218)0000000000000. O

25 U00boboooooobbod
0000000000000,0000000000:

oo 25.1. 00000000000 pO,0000000000000O0O:

oo n

a = 7'
n:
n=0

0000,00 2.2.1,00 2.3.1,00 24100000000 e(z;a), éx;p), é(z;p) 000000, O
00 E(z)=E(z;p) 0000, E(x)000000000O0O0OOOOOOO:
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gobooobooo,obooboobooboobo,booboobooboobo. cobooobog,d
obooobooooobobooog.

00 26.1. p0 000000000, 0000 00000 E(2) =FE(z;p)00000000000O0
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n=0
000,00 231000000000, F(x)0000000O00O0OOOOOOOOO:
E(z)E(w)=E(z+w) (;,w0000000). (2.21)

gboboboooooobouoob «c000DbOOODOOODOO,000D00DOOO0O000O0DOODO
0000000000o00Uo,000000o00U (2200000000000O0OOOO.

0 2.6.1 (21710 0). 20T = 27 (close 2)iv — 97eivloge2 Jog 2 =(0.6931--- 00,

14 Z loge - " (loge 2)n
22y —22—.
n.

n=0
722 logc +2 Z zkliglf

=1.5384---4+41.2779---

)Zkfl

gbooobooboobooogon

e = cosx +isinx (2.22)
oooooO,00bo0o0oocoboooooboobobooooa.

D2.6.2(iiDD).DDDDDnDDDD
; m L (T (Ant1yim
z:cos(§+27rn)+zsm(§+27m>:e 2
O0ooooooo: 4
it = (5) =™+ wooooon).

0 2.6.3 (¢"). 0000000 (222) 0000 »=70000,000000000000000000:
e = —1. (2.23)
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oboooooobo,boooobooobooo,0oboobooooooooboo,0c0oooooboaon
obooooooooobooboboobooo. oboo, 000000000 bO0ob0obooo,0b0bo0o0
gooooooooooobobooooobo,obooboooobooooboboobooboboboo, o
gbooobooooboobooooboooon.
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000000000 0o0o0o0o0oooooo:

00 2.71. 00000000000000O (2.13), (2.14)000000. 0000, 000000:

1\" &1
lim (14+-) =% =, 2.24
n:H;o<+n> PFy (2:24)
k=0
Proof 00000 z0000,00 2510000000000
y=FE(z) =é(x;1) = é(x;1) = e(x;e)

gooooad:

E(z)0000000000000 (0,00)00000,000y>00000000z=FE"(y)0000
00. 000, E(@)=e% E-Y(y)=log,y 00 000000000,0000000 ,4000000 v
Oo0O000o0O00oO:

E~Naf) =B )+ E(B), ET'(a")=7E"Y(a)

0000, (24)0000000000:
1 n
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n—oo n

1 n
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n— 00 n n—oo
-1
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o A ()
Y
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goooo0oooooooo,bo06e0000f0000OOOOOOoOoOoOnO,0<d<s 000000
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0000000 100000000 600000 2,y00000,0000 cosh,sind00000O. OO,
tanf 00000000 cos,singO000000O00ODODODODODOOO:

000000000000, 000,00030000000000 sech, cscd, cotd D0 DD, cosb,
sind0000000000000000000000,00000000,00000 cosd,sinf000,
oo000000000O0O00O00.

0000000000000000000000000000000. 000,0000000000 6
000000000000000000000,#=2,7700000000000,000000000
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0000000000000000000000,00000000000000000000000. 0
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000000000,0000,000000000000000000000000000000000
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000000000, 00000000, 0000000000 oooDooDoOooOoOOO, 0000000
0,0000000000000000000000000000000.000,2:000,00000
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0000000000000 o0ooo00o0ooo00. o00,0000000,00000000000
oo00oooooooooooU0oD. ooo,000b0o000o0O0, 000000 bOo0ooDogooDoooo
O000o00oooo00oooo0oo0o0D. 000, 0000000000000 DOO00oOoOOo,o0d
OO00o00ooo0o0oooooooooOooo,00opooooooog.

oooooooooo 10000 s;000. 0000000000 Oo0U0oDoOoooooOooo, oo
go0o0000oo0O0,10000000000000DO0DO00D0. 00000, 0000 cesp,0D00O0O
O000ooooO0oooooD s;0000 200000000000 000O00ODO0O00O0. 0000, cosfUO
0<<nsO00000ODOODOODODODODODOO.OOO,0000D0 S 0D0002200D00D00
0000000 2x=cosf00000=cos tzO0000O0.

000,00 (e,b) 00 y=f(x) 000000000 0ODOO0OO,0000000000000O00OCO

ooo:
[,/u(jxf(x))gdx.
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y>00000,00 $0y=+/1-220000000,00 (¢,0)000 S;000000600000
goo:

! d¢——72 bodt
9:/ 1+< 1tﬂ ﬁ:/ :
x dt x V1I—12
000,000000002000,2=100000000006000000000ces 20,0000

ooo:
. dt

1

COS .’L‘Z/x m
0000,0=cos"t20000000,00 (0,mD000000x=cosf00000000000. 00
O,r=cosf0002r00000000000,00000 60000 cosf00D00000DOOO0ODO
0000D0.00,8 0000000 5 0000y000000000000000,00000000
y=sinf00000000000.0000,sinf=+v1-cos?20 (0<0<7)00000000 2700
oooooooooo.

0000000000000000000000,000000000000000000000000
0000000000D000000.00,00000,(3.1)0000000000,000 z¢(~1,1)0
O00f#=cos '2000000000000000000000000D0O0DOOOOO0.

(3.1)

3.3 Uooobooogd

obooobOooboooo,ooooboooboooooboOo,obooooboobobobooooboooobooonoo
O000.00,0000 cosa,sine 00000 ¢(z),s(x) 000000,0000000000000O0
goooogo:

(3.2)

000,0000000 ¢(z),s(z)0,0000000000000«,y0000000000000000
00,0000000000000000,0000000000000000000000000000
0.00,0000 ¢(z),s(zx) 000000 (3.2)0,0000000000000000

000,0000 (32)000000000000000000,00000000 E(z+y)=E@®)E(y)
000000000000000000000. 00,0000000000000000000000
oo.

00 3.3.1. p00000000000. 00 261000000000000000 E(z) = E(z;p)00
00,00 C(z),S(x)0000000000:

E(iz) + E(—ix)

. , S(z) = - 2T (3.3)

C(z) =
00 3.3.1. 00 3.3.10,0000 E()000000000 C(z),S(x)0,0000000000:

Clx+y)=C(x)C(y) FS(x)S(y), S(z+y)==Sx)C(y)=+C(z)S(y).
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Proof. C(x+y)=C(z)C(y)— S(x)S(y) 00D OD0OOUOO. EO0O00OOOOOOOOOOO,

_ (E(iz) + E(—iz))(E(iy) + E(—iy)) + (E(iz) — E(—iz))(E(iy) — E(-iy))
4
_ E(iz)E(iy) + E(—iz)E(—iy) _ E(i(z +y)) + E(—i(z +y))

2 2

=C(z +v).

00 3.3.1. S(z+y)=8(z)C(y) +C(x)S(y) 0DODODDODDOOD0.
00 3.3.2. 00000 20000 C(2)*+S(x)?=1000000000000.

00 3.3.1. 000000 20000,00000 A(x)000OOO:

Az +y) = <C<x+y> —S<x+y>> _ <C<x>0<y> = S@)S(y) —S)Cy) - c(x)S(y))
S+y) Clty) ) \S@Cw) +C@)Sk)  C@)Cy) - 5@)Sw)
C(x) =S@)\ (Cly) -5)
= = A(x)A(y).
(sm c<x>><s<y> c<y>> A

00000,0000000000 C(z),S(x)00000000000000 A(z)0D0000O0O000O
00000.00,A()0000000000000 A(z+y)=A(z)A(y)0000000,000000
000000000.00000000,000000000000000000000.

3.4 U0O0ooooooon

00 3.4.1. p0 000000000.00020000,000 éx;p),s(x;p) 0000000000

~ & —1 k T 2k T 2 T 4 T 6

)= kZ—O ( 221(;))' Seie (pQ!) (p4!) - (p6!) T (3.5)
~ e 71](771 ‘T2k71 :173 .1‘5 I7
S p) = ;21 ( )(Qk; Epl))! o (p3!) N (pB!) 3 (p7!) Y (3.6)

gobo,000o00o0oboooboooboob 251, 000000000000000000O 33100,
oooooboooog:

00 3.4.1. 000000000 p0000,00 341000000000 &) = &(z;p), §(z) = 5(z; p)
00000000000:

Az +y) =c(@)ely) F5(x)s(y), sz +y) = 5(x)c(y) £ c(x)s(y). (3.7)
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Proof. 00O 2610000000000 E(z) = E(z)p):

(3.8)

oooo,o00:

E(iz;p) + E(—ix;p . E(ixz;p) — E(—ix;p

(izip) + E(inip) [ Bliaip) - B(izip) 59)
2 24

000000,00 331000000 (3.700000000000.0000,¢«;1)000000 (3.9)

00000, (38)00

é(asp) =

E(iz; 1) + E(—ix; 1 1 > (iz)" > (—iz)™
(iz; 1) : ( )i5 (”;fﬁ +H;< n') )
1[N o (—i)" 2"
()
1 0 7;2/%71‘%2}’671 0 iQkak 0 (_i)2k71x2k71 > (_Z‘)2k1.2k:
T3 <; 2k —1)! +; 20! +; 2k —1)! +k2:1 2h)! )
B 1 0 (,L'Qk—l + (_,L')Qk—l) mZk—l 0 (,L'Qk + (_Z)Qk‘) ka
=1+3 (; 2k —1)! +k§ 20! )
B 1 o0 (1 + (_1)2]@71) i2k71x2k71 0 (1 + (_1)2kr) Z’2k1.2k
=13 <,; 2k —1)! + ; 20! )
> _1)]{)1.216
=1+ kZ:l @]
=é(x;1)

00 3.4.1. 3(z; 1) = BBl ooopQ,

00 3.4.1. 0000,00000 370000 éx),8(x)000,00000000000000000
0.000,000000000000000000000, ¢x),s(x)0000000000

é(x) = i apx”, §(x)= i bpa”
n=0 n=0

000,0000000000000000 {an},, {h,}2,000000000000. 000000
0000000,0000 (3.5),(3.6)00000.

3.5 UUuobuuogoooobbod

goboooboobooobooobo,0bboooboobooooboooooooboooooboOooobog.

000000000000 00DODO000O0000 z2=cosh,y=sinf0,0000 f-z,0-y0000
00000,000000000000000000O, (OD)-(0DO)oD0O0DUOO0OO0OO0,000000
gbobooboboooooboooobo.oooo,oboboooooboooooboon:

d2
/@) = —af(z) (a0D00) (3.10)
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goooooooboboooooobobooooooobo. bobo,0b0obobooooob0oboo0l
000000o,00000000000000O000O00O0000. 00, (31000 200000000
obooo,000b00000b0000 2000000000000 0000000.

00 3.5.1. 000000 p0000,0000000000000000,0000 é=;p), $(x;p)000
o0:

d2
@é(ffz) = —p’e(z), &0)=1, &(0)=0, (3.11)
%é(m) = —p?3(x), 3(0)=0, §(0)=p. (3.12)

0000, é=;p), 8(z;p) 00000000000000000:

00 3.5.1. 00000000000 (3.11), (3.12) 000, 0000 (3.5), (3.6) 000000000
00000000000000000:

> )2k
é(x; p) = &(z;p) Z (3.13)
k=0
(L )k=1( pp)2k—1
8(wip) = 5(s;p) = Y ( 1)(% E’Ol))! . (3.14)
k=1

Proof. (3.13)0000000. éx) =Y. a2 0000,000000 &0) =ag=1,¢(0) =a, =0
0oo. 0o,

oo o0
Aw):Znan ZnJrl apy12™,
n=2 n=1

d2

@é(a:) = 2lay + Z(n + Dnay 12"t = 2lay + Z(n +2)(n+ 1)ap22",

n=2 n=1
000000, éx)000000000000OODO,

d? R
Te(a) = —pPe(@) & (1t 20+ Danse = —pPan (n=1,2,-)

(—P)Qaz(k—n

2k(2k — 1) (k=12,).

& agk—1 =0, agy =

oood

S —pPasr-1) (=1)%p"ag(r—2) _ (=DFpPag  (=1)kp*
T Rk)(2k—1)  2k@k—-1D)(2k—-2)2k—-3) (2k)! (2k)!

000 (3.13)00000. O

00 3.5.1. (3.14)00000.

3.6 UUuoooooodgd

00000000,003310000000000000 C(z),S(z),00 3410000000000
0000 &=),5(x), 00000 351000 2000000000000000 éz),3)0000:

C(x) =¢(x) = é(x), S(z)=35(z) = 5) (3.15)

goooo.booboobobo,00boobooboobooooobobo0oboobo0ond cosa,sine 00O
ooo,0o0b0obooooon:
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ugd 3.6.1. 0000 «000L0O0O0O0O0O0ODO:
cosx = C(x;1) = é(x;1) = é(x;1), sinz = S(x;1) = §(z;1) = §(z;1).
0000,0000 cosz,sinz0000 ()-(iv)D0000O00O0O0O:

(i) 00O0: [-1,1],00: [0,7000000000000 p(h):

Uodt
o) = [
oooo
p~ () 0<ax<m),

cosT =
0000000 2r 000000000000 (<0, 7<),

V1 —cos?x 0<x<m),
0000000 2s 000000000000 (<0, 7<)

sinx =

(i)

eiw + efia: ] eiw —e
cosr = ————, sinx = -
2 21
(iii)
B & (_1)kw2k ) B > (_1)k—1x2k—1
COSLC—];J (Zk‘)' s Sll’ll‘—kz::l (2]{1—1)'

(iv) cosz, sinz 0, 0000000000000 OOO0OOO:

d2
——cosr = —cosx, cosO=1, — COoST =0,
dx? dx 0

d? d
——sinz = —sinz, sin0 =0, —sinz =1.
dx? dx 0

oood

(3.16)

(3.17)

(3.18)

(3.19)

(3.20)

(3.21)

(3.22)

(3.23)

Proof. (i)-(iv)00000,0000000000000000000000000000000. 000
0 ()0 (v)0OOODOO0OO0,00000000000 (3.22),(3.23)0000000000000000
000000000000000000, (3.17), (3.18) 000000 cosz 0, (3.22) 000000000

oooOo0O0O0. 0000000000 -1<0<1,0<x<70000O

L= ®__ 1 _ i

—p -
dx dx =7

o= (VT e (Vi) =0

oo,
C%O:p_%m:ﬂGﬁpﬂ%:[1¢ﬂfﬁzﬂo,

S

6=1
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000 (322) 00000000, pYz) =cosz0,0<2<7000000000 (322)00000.
—r7<zx<000000,3.18) 000000 cesz0, 000 (3.22)000000000000O. O0OOO,
—r<zx<700000,({)0 (ivyDOOOOOcosz000000000O0DO. OO0 sinz0000O
00000O0o0o000. Oooo, (ivyoO0O0O0OO0 cosz,sinzd 27 000000000000 0OOO, O
0000 0000,0000000 ()0 (3.18),(3.19)000000000000000000000.
cos0=—cosm=1,sin0=sin7=000000000, (ii)0 (ivyDOOO0ODO0O,({)00000 cosz,
simnz000000000O0O0O0OOOOO0OO0OOO0DOOOCOOOO0.0000,00000A0
cos(2m) = cosmcosT —sinwsinT = 1,

sin(27) = sinwcosm + coswsinm = 0
gooobO,00b0b0«.0000000000000:

cos(x 4 2m) = cos x cos(2m) — sin x sin(27) = cos z,

sin(x + 27) = sinx cos(27) + cos z sin(27) = sin .

000, cosz, sinz0d 2r0000000. O

3.7 0OU

3.7.1 0OUOO0OO0OOOO

e 00000 cosa, sine 0000

oo " e (71)]6502]6 ) oo k 1 2k 1
:z::j Cosx_lcz:ow, ST = Z 2k—1

go,gbobobbbodooooboobobbooooonoo:
e = cosx + isinz. (3.24)

00000,000000000000000000000 (3.3):

C(x):E(zx) —|—2E(—i:z:)7
000, C(x;1) +iS(z;1) = E(iz; 1) 0000000000,

gooooooboo,obodgo, oo e sO00D 0000 OoOooOoOOO, 00000
goooooooon:

e"=—-1 (00DO00D0), (3.25)

in

(cosz +isinz)" = e = cos(nz) +isin(nz) (00D0D0O000OO0DO). (3.26)

gbooobO,0cob0boboooobooboooooboobooooobo,obobobooboobooobooono
0000000,0000000000000 (321)0,0000000000000000000 (3.22),
(323) 00000000000 000O00DDO0O0O0O0. DOD0DUDOODODO0O0OO0O0OO,00000,000
obooobOoboooooboboo,0o0booboboboobooboooooboon.
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0 3.7.1. 0000:

ei(:v+y) + efi(w+y) el ety 4 e~ e~y

cos(z £ y) = 5 = 5
B (eiz 4 efm) (eiy 4 efiy) 4 (eiz _ efiz) (eiy _ efiy)
N 4
eix + e—iz eiy + e—iy eirp _ e—i."c eiy _ e—iy
2 2 2 2

=coszcosy — sinzsiny.
0 3.7.2.200000:

2ix —2ix eim + efia: 2 _ 2ei$efiz
cos(2x) =° +2€ = ( )2

1T —1T
=2 (e—;e) —1=2cos?z — 1.

0 3.7.3.300000:

3ix —3iz i —iz\3 _ iz, —iz (aiz —iz
cos(3x):e —|—2e :(e +e ) 3626 (e +e )

eZE + e*lx elI _|_ e*ZCE
=4 <) -3 —4cos’x — 3cosz.

2 2
0 3.74. 400000:

e4i:1: 4 ef4ix (e’LT + e—i.’r)4 _ 4e3ime—im _ 662ime—21'.r _ 4eime—3ix
cos(4x) = 5 = 5
T —iz\ 4 2ix —2ix
=8 (eJ;e> 74¥73:8cos4x74cos(2x)73

=8cos*x — 8cos®z + 1.

0od 3.7.1. 00000O00O0,00000000 sindx 0, sinx, cosz000.

3.7.2 0O0O0O0OOO0ODOOODOO

ogooooooo
> _1>kx2k

N
COSQ?—ZW

k=0
0000,0000-0000000,&(x)000.0000,00000é&((r)0000000,n00

O000000,é(rm)0csr=—-10000000000:

Cl(’]T):].
,].(.2
er(m) =1 - G7 = ~3.9348- -
2 4
03(7r):1—%+%=0.1239-~
7T2 71'4 7T6
ca(m) =1 = Gy + 7 — o = 12113
7T2 7T4 7T6 7T8
es(m) = 1= 5 4 7 — o + g = 09760
2 4 6 8 10
com=1—— 4+ T T T 10018

20 41 6! 8 10!



3.7. 00

o0 3.7.2. sinz 0000
k 1 2k: 1

2k—1

P%

sinx =
k=1
0000,0000 0000000 56,(x)000.00000000000 §,(

googo sn( yOnOOOODOOOOO,si g:1DDDDDDDDDDD

jus
6

y000n=1,---

23

80
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40 OO0

4.1 0O0O0O0OO0O0OO

b0 -~00000000C00O0,0000000000000000000DOO00OOOOCOO. OO0
obobOoboboooooooo,o00b0o0oboobobooo,0bobobooooobooboooboon
o,0o0ogoob34---0bobogooooobooooboooobo.0obbo,00b0oboooboo
000000098---m/s?20000000000000000000000.000,000000000
gooooboobooooobo,oboobooooboooooboobooooboboooboobob,bon
ubooodo-~0O00,0000000000000000000. 0DO0OO0,0000000000 =
oobooooobooooooooobooo,0oooooooooooboooboobooooboooo. ocon,
goobooooooo,0oboooobooo,0booboboobooboo. bbb bobbo,b0boboooo
O~00000314000000,000000000000000DOO000DOOO0DOOOOODOOO
oooooo.

gooo,0boooobooooooooooboboooob,bo0ooboooob sO0DOODO
gooobooo,boo,0ocoboboooobobo0~0O0000DO0OO0OO0ODOODOOOO.

o0 4.1.1. 000, 00000000000 00O0DO,000DO00DLO0O0ODODOOODOODObOOODbO
gbooooOobooooboboooo,0b00bo,0boooobobooooobobooooobon
ubogbooboobooboobo. oboboo,boboobooboboobooboboboanoa
gooooooog.

00 4.1.2. 00000 ~0,00 1000000000000, 00100000000000,000¢0
goooooboooobooboooooboboooo.

4.2 O0O0O0OOOOODOOOOOOOO

n00000000,000000000 2200000 6,0,00000000000.0000
001,000 %= 00000000000 7,0000,

sin (57%1)

T, =
2

(4.1)

ooo,sS,=2"27,00,8,00000000:

S, = 2"+ sin ( (4.2)

Y
2n+1>'
0000 lim, .. S, =x00,000 nO00O00O S, 000000000000000,x000D000O00

O00000.0000000000,sin(5747)00000000000,00000000000000
gooooao.



26

00 4.2.1. {cos(55+)}22, 000000000000

(T _ cos(%)—&—l B
COS(W)— f (n—1,2,)

Proof. ¢, =cos(zgr) 000, cog=cos 3 =0000,n>1000000000000

™ ™
Cp—1 = COS (2—"):20052 (2%1)—1:202—1.
DDD,cnzo,sm(#)z 1-c2000000 43)00000.

00 42100 §,00000000000000O00O:

S, =2"T1/1— 2 =2"\/2 — 2¢,_,
=2"1/2 — \/2 4 2¢,_5
:2”\/2— 24+ /24 2¢,_3

=2"4|2 — 2+\/2+\/---\/2+\/m
=2" 2—\2+\/2+\/~--\/2+\/§.

040

ooo

oooo, s, 0oo,2"goooooo0oooopooooo. cooo,0o00000 Ss,0000,000

ubooboobd~obooboobgoobgoban.
ooo S, -, Ssgooooooooooooon:

Sy =2
S; =2v2=128284--

Sy =221/2 — /2 =3.0614 - - -

]

S3=2%/2—1/2+v2=3.1214---

2-1/2+V2+V2=23.1365---
241/24+ /24 V2 =23.1403---

]

Sy =24

Q

S = 2°4|2 —

!

]

Se = 264[2 — 2+\/2+ 24+1/24+V2=31412--- .

00 4.2.1. 000000,000000000210°00000 S00000,000000 600000

oo.

00 4.2.1. 000000, S, 000000 00000000000, 00 {S,}00000000O, 0O
ooooooooo. oob,b0o0oboooboooboob,boooboooboobooboobooo,oooaon

gbooobooboobooboooobbooboobog.
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4.3 O0OO0OO~-~0O0O0

000000 00000oooooooooooooD,o<<7O0O00D0 cosfOOOOOOOO
goo:

—1
08" x = —— 4.4
| = (1.4
oooo,
cos 1 & cos™(—1) /1 dt (4.5)
T=— -1)= = .
1 V1 —t2

o,0o0ocobobo,0ogbobootob~00O0O0O0D0O0O0OO0O0DOOOODOOOOODOODOOODOOn
ubooobobo ~O0D00000.

00000000000, 000,00000000NOODDO,DOO00O0O0DO0O00DOOOOODO
ooo0:

RN —

000 PyOOO, Pigo = 2.944 -+, Pigoo = 3.077+++, Pigooo = 3.121--- 000,00000000 =
0DO0ooo0oooooo.

44 U0O0O0O0OOOOUOOOx-OOO

UbO0sinz0O0O00O00O0ODOOO0OOCOODOODOOODOO:

0 (71)k71x2k71

sinx:n; 1] (4.6)
000,00000 mOO00 sin(ma)=000,000000000:
i )%1:0. (4.7)
s 2k—1
O00m=100000000,00000000000000000:
k12k1
T DDDZ 2k_1 =00z>00000000. (4.8)
0000,sinz000000 0000000 s,(z):
n k12k1
Z Zk:—l (4.9)

k=1
0000 0000 2n—10000 s9,—1(x)=0000,x00000000. 00, 7=3.141592---0
goo,00b0oooooooboon:

56(3.1415) (= —0.00035 - - - ) < 0 < s6(3.141)(= 0.00014 - - ).

0000,110000 sg(x)=00,00000030000000#x0000000O0OO0OOOOO. O
o,0o0oooooooobooboooboboboboboboboooobooo,oo0obD 3200000000
gobooobooobooobo 2000000, 0000,0000000000O000O00DO~0OODOOO
o,0b0o00obooboooooboooobobooooooooooooon.
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ub 4.4.1. Doodooobooooboobobobobooobo,gooobobobooo,1bobaoboo
boboobobooboobooobooboobo,oboboobo0obooooboobooooa.

00 4.4.1. 0000 s7(z) =0, ss(z)=000000000000.

4.5 U0O0OOLOOOOOOOOLOOOO0O~0O0O0

(-2,7)000000000000000 y =tanz 0000 (—o0,00) 00000, 00000 y =
tan~'20000000000,000 (-%,3)000.

tanZ =1<tan '1=500,tan 20000 > ° ja,z"0000000,4% 7 ja,=n0000
r00000000000000.00,0000000000000000000,tan"'2000000

oboocooOobooooobobooooobooooooo:

tan™!z = i wx%_l (Jlx] <1) (4.10)
N 2k — 1 -7 '
k=1
0000000,00000-0000000000000000:
2 (—1)kt 11 1
) YR S P N R 4.11
;21@—1 3t~ 77 i (411)

goooo,b0o0boobcob, bbb ~DOO0DbOOO0ODOODOOOOD.

(411)000000~000000COOO0OOO,00000000O00DOOOOOOCOOOCOCOOO
ooooo,0boo0ooobooboooobo. ooo,b0o00oooobooboobooo,boboo NDOn
OO0000 yO00O0,00000000000D000DO0DOOOO:

Q100 = 3.1516- - -
Q1000 = 3.1425 - .-
QIOOOO =3.1416- - - .

tan~'z0000000,000000000000000000O000,00000000,0000
gboboobobooooboooobooboog:

1 1 ™
-1 — -1 —_ = -1 = —
tan 5 + tan 3 tan” "1 1

obooO00,tanz000000O0O0O0COOOOOOOODOOOOODOO:

1 1> _ tan (tarf1 %) + tan (tarf1 %)

3/ 1—tan (tan_1 %) tan (t:%m_1 1) - 1

1
tan <tan1 — 4+ tan
2 3

,100D (410000000, (411)00000 700000000000000:

SO0 ) - (112

k=1

=

Tr =

D00000NDOODOODOOOOD QuO000,00000 QyOO0000000000000D0O000
000000000000O:

Q1 = 3.33333- - -

Qs =3.11728 - -

Qs = 3.14557 - - -
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00000,000000,000000000000000000 s,(x)=0000000000000

go,00000b000o00b0oooboooboooon.

00 4.5.1. Qu,---,Q1,0000000.

4.6 UOOOOO

oboooobooobooooobooo,0b0~000000000O0DOO0, 0000000000000

goooboooboo.oboobooobooboon:

e ((2), ¢(4), ¢(6),--- DO

@)=Y 5=" =Y =t =) =

6
n
n=1 n=1 n=1

000,¢>)000000000000000O0000O0DO0DUOOOOoUOoOOn:

o0

e JOODOO:

o lim, . tan"lzO0O:

o SNZOQO0:
x

e ;100:

000,0000 «00006000,000000000000000000000 I(2):

F(z):/ * e dx
0
agoog

al=T(a+1)
ooooooooog.

(4.13)

(4.14)

(4.15)

(4.16)

(4.17)

(4.18)

(4.19)

(4.20)

00 4.6.1. (4.17) 00000000000 TI(;,) 00000000000, 00000000C0O0UOOO:

I'n+1)=n! (n=0,1,2,---), T(z+1)=2zI(z).

000 :0000T1(:)00000000000000,00000 (415)00000,T()=/7000

0D0.0000, 20 =1(2)(n=1,2,---)0000000000:

1\ 7

3\ 37
r(2)=2%"=1.32934--.
(3)-%

T (;) - 15§/E —3.32335 .- .

Ot W N
I Il
= =
7~ N 7 N
ot N w
~

Il Il

Nt N Ww N~

|
—
A/~
TN
~
|
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00000,00000000n000000000,000R!0,R2>-100000000000
O00,000000000 2 =T(>+1)000000000000,000000000000O00O0OO
oobooo,000000b000b0o0oob0,000b0oobo0ooo0ooooboooooooboooOon.
00,0000000000000000000000O00O0OO0O0O,000, p+1>max{0,m}0O
goo«,0 mOOO ddx—mmxpDDDDDDDDDDD:

dm F'(p+1) _
P = pm 4.21
dam ™" F(p—m—l—l)x (4.21)
oo0o0,mO00000D00O0 g

000,00000000000000.00,p=1,m=4i000,000020 '0000,0000
0oOoO0ooo0O0oo:
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oo

(1] D0000,000 (1993)0000000000.

oboboooooooobooooooboobobobooooooo.boboboooooooooog,
goooooooboooboboooooooboboobooooob,Doboobboob,ooDoboobogob,
gboooooboooobooboooobobooooobooog.

2 0000,0000 (199)0 0000000000000 0O0U0ODO.

gooooooooooOoOoOobooOoooImmmooooo IIboooooobooooooooooDo.
000010 300000000000, 0000000e000000000DO0DOOOOOO0
g.oboo,0ooobooboooobooooon.

3] D000 (1980)b000UooooUooooog.

0000000000000, 2000000000000 0o0O00Un. 20000ooO0o0On
oboooboobooooooo.



